-ﬁ/» PARAGON MACHINE WORKS
Richmond, California

Dummy Axle Reference Guide

PART ENGRAVING PART DESCRIPTION
NUMBER

FT1100 100 Front spacer, M12 x 100 exact
FT1101 101 Frontindexer, M9 x 100 exact
FT1102 102 Front spacer, M15x 110 exact
FT1103 103 Front spacer, M15 x 100 exact
FT1104 104 Front indexer, M9 x 100 exact
FT1105 105 Frontindexer, M12 x 110 exact
FT1106 106 Frontindexer, M15 x 135 exact
FT1107 107 Front indexer, M15 x 142 exact
FT1108 108 Front spacer, M12 x 110 exact
FT1109 109 Front spacer, M15 x 135 exact
FT1110 110 Frontindexer, M9 x 135 exact
FT1111 111 Front spacer, M15 x 142 exact
FT1112 112 Rear indexer, M14 x 110 exact BMX
FT1113 113 Rearindexer, M10 x120 exact
FT1114 114 Rear indexer, M10 x 120 exact
FT1115 115 Rear indexer, M10 x 130 exact
FT1116 116 Rearindexer, M10 x 130
FT1117 117 Rear indexer, M10 x 135 exact
FT1118 118 Rearindexer, M10 x 135
FT1119 119 Rear indexer, M10 x 110 exact BMX
FT1121 121 Rear spacer, Syntace M12 x 142 exact
FT1192 199 Rear sp.acer, M12 x 142 exact*

*Use with adapter FT1173 for UDH/T-Type dropouts
FT1123 123 Rear indexer, M10 x 145 tandem

Rear spacer, M12 x 148 exact*
FT1124 124 _

*Use with adapter FT1173 for UDH/T-Type dropouts
FT1125 125 Rear spacer, Syntace M12 x 148 exact
FT1127 127 Front spacer, M15 x 150 exact




FT1128

128

Rear spacer, M12 x 157 exact*
*Use with adapter FT1173 for UDH/T-Type dropouts

FT1129

129

Rear spacer, Syntace M12 x 157 exact




-ﬁ/» PARAGON MACHINE WORKS
Richmond, California

Dummy Axle Reference Guide

PART ENGRAVING PART DESCRIPTION
NUMBER
FT1131 131 Rear indexer, M10x 170
FT1133 133 Rear sp‘acer, M12 x 177 exact*
*Use with adapter FT1173 for UDH/T-Type dropouts
FT1134 134 Rear spacer, Syntace M12 x 177 exact
FT1135 135 Rear sp‘acer, M12 x 197 exact*
*Use with adapter FT1173 for UDH/T-Type dropouts
FT1136 136 Rear spacer, Syntace M12 x 197
FT1137 137 Front indexer, M12 x 100 exact
FT1138 138 Frontindexer, M15 x 100 exact
FT1139 139 Frontindexer, M15x 110 exact
FT1140 140 Front indexer, M15 x 150 exact
FT1141 141 Rear indexer, Syntace M12 x 142 Exact
FT1142 142 Rear indexer, M12 x 20 x 142 exact
FT1143 143 Rear indexer, M12 x 20 x 148 exact
FT1144 144 Rear indexer, Syntace M12 x 148 exact
FT1145 145 Rear indexer, M12 x 20 x 157 exact
FT1146 146 Rear indexer, Syntace M12 x 157 exact
FT1147 147 Rear indexer, M12 x 20 x 197 exact
FT1148 148 Rear indexer, Syntace M12 x 197 exact
FT1149 149 Rear indexer, M12x 20 x 177 exact
FT1150 150 Rear indexer, Syntace M12 x 177 exact
FT1152 152 Rear indexer, Conventional Sliding Dropout, M9 x 142
FT1153 153 Rear indexer, Conventional Sliding Dropout, M9 x 148
FT1154 154 Frontindexer, 100 exact x M12, SON Hub
FT1155 155 Rear indexer, M12 x 19 x 142 exact
FT1156 156 Rearindexer, M12 x 19 x 148 exact
FT1157 157 Rear indexer, M12x 19 x 157 exact
FT1158 158 Rearindexer, M12x 19 x 177 exact




FT1159

159

Rearindexer, M12 x 19 x 197 exact

FT1164

164

Rear spacer, SRAM UDH/T-Type, M12 x 142




PARAGON MACHINE WORKS

KRickmond, California

Dummy Axle Reference Guide

PART
NUMBER ENGRAVING PART DESCRIPTION
FT1165 165 Rear spacer, SRAM UDH/T-Type, M12 x 148
FT1166 166 Rear spacer, SRAM UDH/T-Type, M12 x 157
FT1167 167 Rear spacer, SRAM UDH/T-Type, M12x 177
FT1168 168 Rear spacer, SRAM UDH/T-Type, M12 x 197




